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1. Do not open the booklet unless you are asked 1. e9—gRadT &1 q@—ad 4 @l o dd
to do so. 39 | HET 4 W |

2. The booklet contains 35 questions. 2. yei—gRaeT H 35 U & | udemil &1 wi
Examinee is required to answer all questions el Bl daad 4 TS OMR 3I=R—3fe
in the OMR Answer-Sheet provided and not W & B BRAI B, UEH-gRadr R T |
in the question Booklet. Each question UAE U 2 3F FT &| FUTHE JF &I
carries 2 marks. There is no negative TR e |

* marking.

3. Examine the Booklet and the OMR Answer- 3. Ui & QR 3ifhad & & qd wea—gRaa
Sheet very carefully before you proceed. AT OMR MTRR-HT 1 AEAIHYdD &
Faulty question Booklet due to missing or o aﬁqtiuf geI-gRa®T forad &8 ArT B
duplicate pages / questions or having any ¥ Be T B 41 Uh 9 e IR BU T
other discrepancy should be immediately 2 O Sud R = ueR 9 I 8 S
replaced. qe aqd 31
(Remaining instructions on last page) ( &y A3 st~ g gv )
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1. What is the basic difference between Slide
Transition and Animation Effect in MS-Power
Point 2010?

“4) Slide transitions are applied to whole-slide
whereas Animation effects are applied to
objects (text, shape, picture, etc.) on a
slide.

(B) Animation effects are applied to whole-
slide whereas Slide transitions are applied
to objects (text, shape, picture, etc.) on a
slide.

(C) Slide transitions are shown during Slide
Show whereas Animation effects are not
shown during Slide Show.

(D) Slide transitions are not shown during Slide
Show whereas Animation effects are
shown during Slide Show.

D When you connect to a projector in Windows

10, the following connection option for PC

screen enables different display contents on a

computer screen and projector screen:

(A) Duplicate

(B) Computer only

(C) Extend

'\k%; Projector only

\\3) Which of the fol]owmg is good practice for
secure browsing?
(A) Do not run antivirus.

(B) Do not update your software.
\{Q, Avoid public or free Wi-Fi-:
(D) Do not read privacy policies.

4. translates domain name into IP
address.
DNS
(B) URL
(C) NTFS
(D) 1ISO

\Q'J — is an example of mobile
operating system.
(A)  Windows 98

™NB) Android operating system
(C) Mint operating system

(D) MS-Word 2010

TATH — UTaRUiSe 2010 # ¥ES TiRTEE (Slide
Transition) 3R TUSHYH 3®Bae (Animation
Effect) & 919 §a7 3fax ar 27

\Qmaﬁmﬁ@mww

far st @ Siefe e wige ) sffeae
(@, smpfa, frF onf}) W T¥H ywrg
T B E |

(B) THMIH 9@ R WIS W oF] BN §

- Ol wIgS W siferde (dUre, snefy, R
1) R wgs gifred o 81 2

) wss gieE wiss o @ SRAE Ran
S § Tafh wigs W @ ERM UHmEE
y9Tg T8 @ 9 g |

D) g T wWigs @ & SRE T
fe@g o § Safé s W 3 dhm
TR §%de feam Wi 2

9 AT IS 10 § U Uioigexr & e B

g a fefaReg Gt w9 & v aes

fdpey Frger WM R diogery WA W

faff=1 weei= Wl @1 ueldfa @war & -

(A) ng??l'cﬁ‘c[ (Duplicate)

(B) Y el (Computer only)

(C) Tgacse (Extend)

(D) "ISTaeR 3iell (Projector only)

= 9§ B9 a1 R aefi & faw st

I B?

(A) TCHar™RY 5 9y |

(B) 39 HFedaR B ST 7 P |

(C) WIS a1 q9d a8 — B 4§ a9 |

(D) "MOsRET Hifaar @1 9 ug |

mﬁqﬁﬁ@ﬁ?{:{mzﬁrm
aﬂ?n%l

(A) SITATH (DNS)
(B) FIRTA (URL)
(C) UAEIUHUH (NTFS)
(D) STSTHIT (ISO)

(B) Uglss IfefeT Rew
(C) e (Mint) ToRfeT s
(D) TATH — TS 2010
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6. NSDL website is primarily related to -
“' (A) PAN card application and updation
\&) Voter record updation
(C) Online shopping
(D) Passport application
7 is a type of paragraph
alignment in MS-Word 2010.
(A) Portrait
(B) IJustify
\(Q} Italic
(D) Indent
8. Which of the following is NOT the benefit of
Online Banking?

(A)
(B)
(©)

g

9. Select the correct full form of POS and UPI

from the following:

(A) Point of Scale and Unified Payment
Interface
Payment
Interface
\, Point of Sale and Unified Payments

Interface
(D) Payment of State and Unclear Payment
Sale

You can use it any time (24x7).

It takes less time than others.

It transfers the money instantaneously into
the receiver account,

You can demodulate and modulate the
system.

(B) of Sale and Unified Point

10. Suppose the file location is
D:AVMOU\RSCIT\example.txt, then select the
incorrect option from the following:

(A) D:is the drive name.
(B) RSCIT is the subfolder of VMOU.
\(C) VMOU is the subfolder of RSCIT.
(D) example.txt is the file name with a file
extension.

is a voice powered personal

= ; ;
\Jassislant in Windows 10.

Cortana
(B) Taskbar
(C) Microsoft Edge
(D) Window Store

10.

11.

TIUHSIVS (NSDL) d991se & w9 W Hafdg &

(A) U9 BTE Uftee 3R srueee 94

(B) WaeTal Rars usyq ¥

(C) Sifers= wifdT &

(D) UTHUE a3

........................... TATH — ds 2010 § Udb UBR &I

URTUTH 3reTS=Hic (alignment) & |

(A) ‘ﬂi? (Portrait)

(B) SIRCWTE (Justify)

(C) sefer® (ltalic)

(D) =€ (Indent)

fr=fofea & @ @9 sitoea fFn &1 am

&l 87

(A) 39 38 &0 ft 99y (24x7) ST @R
qHd & |

(B) ¥WH qERI BI ol H HH §HI @I 2

() & ¥4 & qCWd Uddl B @i [
RIIART & 2 |

(D) g ﬁTEH b1 SHTSee AR HigYele B

HAHd 2 |
ﬁwﬁr@aﬁﬁmsaﬂ?wmﬂﬁwmﬂ

g BN —

(A) WIge A% bl (Point of Scale) 3R
qﬁuﬂs@' UHe 3eX%Y (Uniform Payment
Interface)

(B) e 3% o (Payment of Sale) 3R
{ﬁ'q:‘l’:;@ WIgC $EXBY (Unified Point Interface)

(C) @Ige 3% A (Point of Sale) 3R IFHIES
e EETW (Unified Payment Interface)

(D) e I we (Payment of State) 3R
IR e ¥ (Unclear Payment Sale)

A 1T 6 BIger e

D:\VMOU\RSCIT\example.txt &, @ %=1 # & Treia

fAwen &1 999 P —

(A) D:S13d T M 2|

(B) VMOU &T Wehiesy RSCIT 2 |

(C) RSCIT &1 HEhleex VMOU & |

(D) example.txt B1gel A9 & T BTl TFHCIH

HERH 2 |

(A) BREHT (Cortana)

(B) ST¥hdR (Taskbar)

(C) HIZSHIAETE TS (Microsoft Edge)
(D) fier R (Window Store)
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is NOT an example of Monitor.
CRT
Flat Panel
LCD

Laser Jet

\4 (A)

(B)
<
~D)

13.

Select the incorrect statement from the
following:

(A)
Main Memory.
(B)
(€
magnetic disks.

12.

13.

Cache Memory has low access time than

Cache Memory stores the data temporarily.
Cache Memory consists of fast-rotating

) Cache Memory is more expensive than

Main Memory.

\K' What is the full form of HDMI?

High Dimension Multimedia Interface

(B)

NG

(D)

Huge Definition Multimedia Interface
High Definition Multimedia Interface
Heavy Development Media Internet

15. Which of the following is NOT a software?
(A) Operating System
~© TB), Keyboard
| (C) Linux
(D) Internet Explorer

When you create a new folder in Windows 10,
then what is the default name of that folder?

(A) My Folder
) New Folder

(C) Folder

(D) Windows Folder

17. is one of the screen lock options in
Android Device.
(A)

16.

Browser
(B) UC Browser
_ (C) Hotspot
\(*Ql/ Swipe
18. What is the result of the formula
=LEN("VMOU@RSCIT") in MS-Excel 20107
(A) 14

14.

15.

-

Hifer &1 SerEver i 2 |
(A)?fﬁam‘c"r(CRT)
(B) Tele U9eT (Flat Panel)
(C) Yewirst (LCD)
(D) TSR Wi (Laser Jet)
fr=foaRRaa & & Toq doF &1 T9T BN —
(A) DI TR H AT FAR @ g H BH
TR b HY o 2 |
(B) ?ﬂﬁtﬁﬂﬁ%aawﬁwﬁwm

|

(©) w?ﬂﬁm%wmmm
B B |

(D) D HHNI AT HHN BI o § STl "EA
2|

TISIgHATE (HDMI) & qof ®9 a7 87

(A) B SRHTE HAeeHIf¥AT $ex®d  (High
Dimension Multimedia Interface)

(B) B Sfh1eM ACHIfEar $ex%d (Huge
Definition Multimedia Interface)

(C) =18 Sfhee ASrIfSar sex$¥ (High
Definition Multimedia Interface)

(D) B SaeuHe Hf¥TT gevAe (Heavy
Development Media Internet)

f=foRed § 9 &9 ditedar T8 87

(A) ITRfET Ren

(B) ®I—drS

(C) foraw

(D) VAT UFHEIRY

519 Y ISt 10 § U =47 Biesx 9491 &,

B9 Hiesx & fSWice AW w1 BT 272

(A) AT HIesR (My Folder)

(B) =] WIee¥ (New Folder)

(C) Wieex (Folder)

(D) [CEAN] W (Windows Folder)

...................... Ugizs farsy #§ & die Aot #

(A) STSuIY (Browser)

(B) FH!I ITISR (UC Browser)

(C) Biewdic (Hotspot)

(D) T84 (Swipe)

THTH — UaIel 2010 H BT

=LEN("VMOU@RSCIT") &T URUITH &1 81177

(A) 14

(B) 11 (B) 11
€ 10 (©) 10
Ny 12 (D) 12
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19. Which of the following is an example of 19. fafafea # ¥ B dieesd 7N B U6
Volatile Memory? Select the most appropriate ISV 27 T ERUET] g &1 TTqd Py —
Option- (A) PROM
(A) PROM (B) EPROM
(B) EPROM (C) BFT (A) 3R (B) fadea

\g, Both options (A) and (B) D aﬂs‘ & fwey a8 T8l Y
( None of the options are correct. (D)

0. What is the shortcut key for Format Painter in 00. UATE—TE 2010 # BiHe Uex @ Tiicde Holl
MS-Word 2010? a1 87
(A) Cul+Alt+C (A) Ctrl+ Alt+C
(B) Ctrl + Shift + C (B) Ctrl + Shift + C
Ctrl + Alt+V (C) Ctrl+Alt+V
(D) Ctrl + Shift +V (D) Citrl + Shift +V
21, Select the correct matching option from the 2¢. g fer 7y aferer & <@ foam e &1
table given below: TqT N —

1 |Chrome P |1t is an additional L. | (Chrome) | P | 9% SeiE e
credential for - R 3 g e
security in

b/'&'ﬂine transaction. SAfcRat T
/\ ‘ 2l
2 |OTP Q| It is an example of 2. |3 (OTP) Q | a8 99 — STSuR @1
Web-Browser.
IR B
3 |BHIM R |It is an example of 3. | M (BHIM) R |8 § — ®md
|__lan e-commerce EERIECRCAREE R
website. 21
4 www.amazon(;n' S |It is an example of 4 [ wwwamazonin | S | 78 HEIEe dieie 1
aMobile Wallet. JETERY & |
(A) 1-P,2-Q,3-R.4-8 (A) 1-P,2-Q,3-R,4-8
(B) 1-Q,2-S,3-P,4R (B) 1-Q,2-S5,3-P,4-R
(C) 1-8,2-Q,3-R,4-P (C) 1-S,2-Q,3-R,4-P
Q) 1-Q.2-P, 35, 4R (D) 1-Q.2-P,3-S,4-R
22, key erases the letter to the left of 20, TATH-TE 2010 H .o Holl FER B 918
the cursor and key erases the letter to AR B FER BT Ml AT R AR Hotl
the right of the cursor in MS-Word 2010. AR P IE IR D IR F fAer a1 2|
(A) Delete, Backspace (A) fEeire, JHEH
(B) Ctrl, Alt (B) Ctrl, Alt
Q) Backspace, Delete © .
(D) Spacebar, Enter (D) WEER, YeX
23. is a cloud-based storage 23, LNIGTRIF WP gRT ids
solution by Government of Rajasthan. auullia YR FHE ¢ |
(& Rajasthan e-Vault (A) RIS § — dfee (e-Vault)
(B) E-Gyan (B) § — S (E - Gyan)
(C) -BPSC (C) IRGTHAT (RPSC)
(D) Raje-Sign (D) IS § — ATEA (Raj e-Sign)
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24. How to open the hyperlink inserted in MS-

Word 2010?
Simply click on the hyperlink
Press Alt key and then click on the
hyperlink
Press the Shift key and then click on the
hyperlink
Press Ctrl key and then click on the
hyperlink

(B)
(©)

(D)

25. Which of the following information is NOT
associated with Aadhaar Card?
(A) Candidate name

(B)
(C) Iris Scans

\(Q)‘ CVV number

26. What is the use of Google Maps?
"™4) For finding the location of the place
(B) For sharing the file between mobiles
(C) For reading mails
(D) For installing mobile apps
27. Presentation is a collection of

Photograph

(A) Charts

(B) Workbook

(C) Worksheet
D) Slides

28. A student can deposit his/her online fees to the
university using

(A) Aadhaar card
(B)
\@)
(D)

29, If a system or machine maliciously gets flooded

Bhamashah card
E Mitra

Ration card

with traffic or information that makes it crash or
be otherwise inaccessible to users, then which

attack is occurred?

24.

26.

27.

g;Word 2010 ¥ affora eswfeids &1 39

P

(A) DI BIIRfGTP W fFers ¥

(B) Alt Bl Bl Ta1¢ 3R v egwRfid W
ESEC

(C) Rrwe (Shift) Hol BT TET 3R
TERRID R Ried 3

(D) Ctl oil BT Ta¢ 3R R sEwiie W
EEEECE

=1 4 9 39 W JFer) AR w1 ¥ Heg

T8 87

(A) fed &1 74

(B) BICITH

(C) 3MER™ Wb (Iris Scans)

(D) |G (CVV) TR

AT HSH (Maps) &1 SUANET a7 82

(A) 9 BT gaT o+ & feru

(B) HIEIS & 19 Izl QI & & forg

(C) AT Ugn & forw

(D) AMETES URAPDI ST H3 & forw

TOIETT e mrro i P UH GUE B |

(A) =

(B) THgH

(C) daBeie

(D) wgsd

aﬁﬂﬂé%ﬁﬂmwﬁﬂ@w“ﬁﬁﬁﬁﬁ
T AR | WR ST & S 59 GHCARRG B
qdl @ I1 SuIrTRanet @ foy Rew &1 suam
A B AT §, A7 T8 BN AT BHel 27

(A) TBfRFT (Phishing) &5e

(A)* Phishing attack o f
\@ A gf . y (B) f&mge 8if% |fdd (Denial of service) &Hel
enia service attac ) o
' © T rojlan ;.-Iorse (C) ﬁlﬁﬁ Ears (Trojan Horse)
(D) Password attack (D) IES (Password) &¥ef
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30. A web page that opens first when any website
is opened is called
(A) House Page
\QB/) Home Page
(C) PDA
(D) Virus
31. In MS-Excel 2010, if you apply a formula in a
particular cell and the result display is
#iHEHHE, then-
(A) You put the wrong formula.
\? Your formula logic is incorrect.
(©)
\»(.Q} The result of the formula is too big to
/ display in the cell.

You cannot put the formula in the formula
bar.
32. You can transfer the data between PC and

mobile using cable.
T4y USB
(B) CD
(C) DVD
(D) Hard
33. Select the correct statement from the
following:
W You can save MS-Office document in PDF
format.
(B) You can start a presentation using the F6
key.
(C) You can apply a formula by using a
formula bar in MS-Word 2010.
(D) You can set page orientation to bold in

MS-Office 2010.

34. If the attachment file is more than 25 MB in
size and you want to send the same attachment
file with email using Gmail, then -
, You can use the Google Drive link.
You can attach the file in Bcc.
You can use Google Chrome instead of
Mozilla Firefox. : :
send the. mail with the

(B)
(©)

(D)

You cannot
attachment.

35. Which of the following is an example of a

30.

31.

32.

33.

34,

35.

TP 99 U o fH¥l derge & @i IR 9e9d

(A) BIeY. U (House Page)

(B) B UST (Home Page)

(C) NS (PDA)

(D) 9IRA (Virus)

THATY — Udol 2010 #, AT 3y fsd fagm va

H US BT AN B 8 IR URUITH ####H

yefdfd BT 8, ar —

(A) 3T TeTd Wi o 38 |

(B) JAMUHI BT dAlford TTad & |

(C) 319 BTHEAT BT B IR § &l ST Tl |

(D) BEem & gRomH e H weRia @A
f%fqagﬁa@%l

e BT IUINT PId U

ﬁa@%%ﬁﬂ@ammﬁaaﬂﬂaﬁﬁl

(A) JuHdl (USB)

(B) ¥rs! (CD)

(C) S1EE (DVD)

(D) ETS (Hard)

frrafaRaa § 3 98 $99 &1 999 &N —

(A) 39 THTH — Jifha # Ixadel &I dreiuh
(PDF) %Y ¥ 99 #% 95 & |

(B) M9 F6 il &I IUANT dXd U Tl Y6
P Thd B |

(C) 39 THTH — T$ 2010 § BT IR &7
SN HRP [P Bifen ford Faohd & |

(D) 3T UHUY — 3iifhw 2010 ¥ UW aNRycs™

P dlcs We X Ihd B |

Ife cTHe WIsH 25 THAI A AfWE MHR Bl

2 3R MU S &1 SUANT FRP IHA B AT

TP & ISTHT Bisdd WOl aEd &, a9 —

(A) 39 Google $T5d foid6 &1 SYANT H Fhd
2 | :

(B) 3T BTl Bl Bee H Hol™d X AHd & |

(C) M ARTAT BRRBIFT & g el DA
BT SUANT HR GHhd & |

(D) 3T TS P A Hel H8l 9ol AHd & |

frefafReg § @ &9 W eI (MOOC)

MOOC portal? gIed H1 IS0 87

(A) Udacity “R), BHIM (A) SCTRIET (Udacity) (B) ¥ (BHIM)

©) Twitter (D) MS-Word (C) Tfdex (Twitter) (D) THYH—TS (MS-Word)
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